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EREES. 2EZY L—R GBI AR
# 0. BFE MR 18 HE AEH % 258 T
#. i A ©®© @ ® @ ® ® @ L4 PO HE HH HE NV HE BE LAY
ARz 68 7 5 812111312 0 0 10.2 17.6 29.4 0| 3.39 3.445 3.44 4.50 3.522
1906 (MN—f%)| 43 2 2 2 9 9 10 9 0 O 4.6 9.3 13.9| 0| 3.39 3.445| 3.43  5.02 3.509
(eofb—#%)| 25 5 3 6 3 2 3 3 0 O 20.0 32.0 56.0f 0| 3.43 3.500| 3.46  3.60 3.545
1 ﬁﬁ gg 0 (ROMGHER) | - .
na 12 0 1 0 0 2 3 4 2 O 0.0 8.3 8.3 0/ 3.40 3.494| 3.43 6.16 3.515
fiRizx 19HA {RERIE
63i% PEZIN 4 0 0 2 2 1 1 5 3 O 0.0 0.0 14.2) 0| 3.43 3.506| 3.44 6.00 3.527
LIz 7 0 O O 1 1 5 0 0 O 0.0 0.0 0.0/ 0| 3.42 3.481| 3.43 5.57 3.502
ARz 66 4 6 6 7 81613 6 O 6.0 15.1 24.2 0 3.35 3.423| 3.42 5.10 3.508
3702 (MN—%)| 42 2 6 5 7 5 14 3 0 0 4.7 19.0 309 0| 3.35 3.423| 339  4.45 3.481
(zofti—#%) 24 2 0 1 0 3 2 10 6 O 8.3 8.3 12,5/ 0| 3.37 3.516| 3.46  6.25 3.555
A Ais Bt 10 cowem - - S
e 13 0 1. 0 2 3 3 3 1 O 0.0 7.6 7.6 0| 3.36 3.454| 3.40 5.53 3.490
fiRizx 37HA {FERIZ
237% JEAR 17 0 1 1 6 5 1 2 0 0.0 5.8 11.7] 0| 3.36 3.447| 3.39 5.41 3.496
LB 13 0 2 0 2 5 3 0 O 0.0 15.3 23.00 0] 3.36 3.452| 3.40 5.23 3.478
ARis 71 2 81114111111 3 O 2.8 14.0 29.5| 0| 3.33 3.406| 3.39 4.63 3.485
2929 (MN—%)| 42 1 6 7 13 6 5 4 0 O 2.3 16.6 33.3| 0| 3.33 3.406| 3.37 4.14 3.466
(Zofs—#%)| 22 1 1 2 1 5 4 7 1 0 4.5 9.0 18.1] 0| 3.37 3.460| 3.42  5.40 3.522
3 BEIES Pl (ZDOHBGHER) 7 0 1 2 0 0 2 0 2 0 0.0 14.2 428 0| 3.37 3.453| 3.40 5.14 3.477
e 13 0 2 3 3 2 1 1 1 O 0.0 15.3 38.4) 0] 3.35 3.431| 3.38 4.30 3.473
frix 29HA FREAIG 8 1. 0 1 3 1 0 0O 2 0| 125 125 250 0| 3.33 3.429 3.38 4.62 3.474
4475% JEAR 12 1 2 2 1 3 1 1 1 O 8.3 25.0 41.6| 0| 3.34 3.438| 3.38 4.25 3.478
LB 11 2 5 0 0 2 0 2 0 O 18.1 63.6 63.6| 0| 3.35 3.423| 3.37 3.27 3.447
ARis 72 514 4 917 9 8 5 1 6.9 26.3 31.9 0 3.29 3.384| 3.37 4.45 3.475
3506 (MN—%)| 38 2 10 2 4 13 5 2 0 O 5.2 31.5 36.8| 0| 3.29 3.384| 335 4.02 3.448
(ZOM—#%)| 27 2 4 2 4 4 4 5 2 0 7.4 22.2 29.6| 0 3.34 3.439| 3.41  4.70 3.511
N A ES 20 (Roftc) 7 1 0 0 1 0 0O 1 3 1 14.2 14.2 14.2| 0| 3.34 3432 337 6.00 3.480
e 6 0 1 1 1 1 0 2 O O 0.0 16.6 33.3] 0] 3.30 3.412| 3.33 4.66 3.434
fiRizx 35HA {RERIE 5 0 0 1 1 1 1 1 O O 0.0 0.0 20.0/ 0] 3.33 3.436| 3.36 5.00 3.459
277% JEAR 11 3 1 4 0 0 1 1 0 1 27.2 36.3 72.7 0] 3.30 3.383| 3.34 3.00 3.435
LLIB& 21 1 3 1 2 5 5 0 3 1 4.7 19.0 23.8/ 0| 3.33 3.417) 3.37 4.85 3.462
ARz 47 6 3 9 9 313 3 1 0 12.7 19.1 38.2) 0 3.27 3.376| 3.35 4.19 3.460
2315 (MN—f%) 22 6 2 8 3 0 2 1 0 O 27.2 36.3 72.7| 0| 3.27 3.376| 3.32  2.95 3.425
(zoftt—#%)| 18 0 1 0 6 2 8 1 0 O 0.0 5.5 55/ 0| 3.35 3.444| 338  5.05 3.504
5 e BB 30 oftew) 7 0 0 1 0 1 3 1 1 0 0.0 0.0 142| 0| 3.31  3.424| 334 585  3.459
e 7 0 0 2 1 1 2 1 0 O 0.0 0.0 28.5| 0] 3.30 3.410, 3.32 4.85 3.430
Arix 23HA FRERIG 1 0 2 0 2 3 1 2 1 0 0.0 18.1 18.1) 0| 3.28 3.412| 3.34 5.00 3.451
52i% PEZYN 7 0 O0 1 1 2 2 0 1 O 0.0 0.0 14.2) 0| 3.32 3.443| 3.34 5.28 3.460
LLIB& 22 2 5 4 6 1 2 1 1 0 9.0 31.8 50.0/ 0| 3.28 3.368| 3.34 3.63 3.433
ARi5 52 9 6 6 8 611 6 0 0 17.3 28.8 40.3 0 3.31 3.375| 3.37 4.01 3.454
3402 (MN—%)| 24 3 3 6 4 3 2 3 0 0 12.5 25.0 50.0, 0| 3.31 3.387| 3.35 3.79 3.435
(ZOM—#%)| 22 6 2 0 4 3 7 0 0 O 27.2 36.3 36.3| 0| 3.33 3.427| 339  3.77 3.478
A=A EH |40 (RDAGEK) 6 0 1 0 0 0 2 3 0 O 0.0 16.6 16.6| 0| 3.32 3.375| 3.35 5.83 3.439
Ne 14 2 2 0 3 2 4 1 0 O 14.2 28.5 28.5| 0] 3.30 3.387| 3.36 4.21 3.428
BRI 3458 RERIZ 12 2 1 1 2 1 3 0 2 0/ 16.6 250 33.3 0| 3.34 3.415 3.37 4.50 3.446
25i% PEZYN 4 0 O 3 3 5 2 1 0 O 0.0 0.0 21.4) 0| 3.32 3.408| 3.36 4.64 3.429
LLI B 14 0 2 3 4 2 1 2 0 O 0.0 14.2 35.7| 0] 3.32 3.381| 3.34 4.21 3.419
ARis 5 1 0 1111 0 0 O 20.0 20.0 40.00 0| 3.28 3.380 3.34 3.80 3.441
2310 (MN—#) 2 1 0 0 1 0 0 0 0 O 50.0 50.0 50.00 0| 3.28 3.380| 3.29 2.50 3.382
(ZDAf—H#E) 3 0 0 1 0 1 1 0 0 O 0.0 0.0 33.3| 0| 3.36 3.465| 3.37  4.66 3.481
7| fEQKRBE 40 (zotcw) - .
na 24 0 4 4 3 3 5 5 0 O 0.0 16.6 33.3] 0] 3.29 3.385| 3.32 4.66 3.422
LLIF% 23HA {RERZ 21 4 2 3 3 2 0 5 2 O 19.0 28.5 42.8) 0| 3.28 3.363| 3.32 4.28 3.433
517% PEZYN 31T 4 4 5 7 6 2 2 1 0 12.9 25.8 419 0| 3.27 3.367| 3.32 3.83 3.420
L= 50 14 10 12 8 12 1 2 0 O 23.7 40.6 61.0) 1| 3.27 3.363| 3.31 3.08 3.408
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EBBS. 2E5>
# 7 BT & AR # = 1% 2i8 3E B BE Fiy
R, £in ® @ ® @ ® ® @ L4 x Xt e EH HE LAY HE BE LAY
i 15 0 0 2 2 45 2 00 0.0 0.0 133 O 5.20
1906 (MN—#%)) 11 0 0 1 2 2 4 2 0 O 0.0 0.0 9.0/ 0 5.36
(ZOAh—A) 4 0 0 1 0 2 1 0 0 O 0.0 0.0 25.0, 0 4.75
na
ERix 19HH RIS
637% PEZIN 4 1 1 1 0 0 1 0 0 O 25.0 50.0 75.00 O 3.00
LLIE% 7 0 0 2 1 0 4 0 0 O 0.0 0.0 28,5/ 0 4.85
AR 19 0 3 52 7 11 00 0.0 157 421 0 4.05
3702 (MN—#%) 16 0 3 5 2 5 1 0 0 O 0.0 18.7 50.0 © 3.75
(ZOAh—A%) 30 0 0 0 2 0 1 0 O 0.0 0.0 0.0, 0 5.66
nme 3 0 1 0 O 1 0 0 O 0.0 33.3 33.3] O 4.33
ERiz 37HA RIS
237% PETIN 1 0 0 0 0 0 0 1 0 O 0.0 0.0 0.0/ O 7.00
LB 5 0 1 1 0 3 0 0O 0 O 0.0 20.0 40.00 O 4.00
Al 20 0 1 1 5 415 30 0.0 5.0 10.0 O 5.50
2929 (MN—#) 11 0 1 1 3 2 0 4 0 0 0.0 9.0 181 0 5.00
(ZOAt—HE) 4 0 0 0 1 0 1 1 1 0 0.0 0.0 0.0 o0 6.25
N I ELZ 20 ®ofte#®)) 5 0 0 0 1 2 0 0 2 0 0.0 0.0 00/ 0 6.00
ne 2 0 0 0 1 0 0 1 0 O 0.0 0.0 0.0/ O 5.50
frix 29HA FRERIG 2 0 0 0 0 0 0 0 2 O 0.0 0.0 0.0/ O 8.00
447% SR 4 0 0 0 0 1 2 0 1 0 0.0 0.0 0.0 0 6.25
1IR3 6 1 0 1 1 0 2 0 1 0 166 166 333 0 4.66
ARt 24 6 6 4 2 1 2 1 2 0 250 500 66.6 0 3.25
3506 (MN—#%) 13 4 5 2 1 1 0 0 0 O 30.7 69.2 84.6| 0 2.23
(ZOAt—HE) 4 1 1 0 0 0 0 1 1 0 25.0 50.0 50.0 © 4.50
'S i ES 20  zofes) 7 1 0 2 1 0 2 0 1 0 14.2 14.2 428/ 0 4.42
ne
Hrix 35HA FRERIG 1 0 1 0 0 0O O O 0 O 0.0 100.0 100.00 O 2.00
277% REZIN 2 0 0 0 0 0 1 0 0 1 0.0 0.0 0.0/ O 6.00
LLIE5 2 1 0 0 0 1 0 0 0 O 50.0 50.0 50.0/ O 3.00
AR 2013 3 11 0 2 0 O 0O 65.0 80.0 850 O 1.90
2315 (MN—#%) 11 7 3 0 0 0 1 0 0 O 63.6 90.9 90.9| 0 1.72
(ROt —HE) 4 3 0 0 1 0 0 0O 0 O 75.0 75.0 75.0, 0 1.75
5 MB BB 30 oftew) 5 3 0 1 0 0 1 0 0 O 60.0 60.0 80.0/ 0 2.40
ne 1 0 1 0 0 0 0 O 0 O 0.0 100.0 100.00 O 2.00
BRIz 23HA FRELIE 2 0 1 0 0 1 0 0 0 O 0.0 50.0 50.0/ O 3.50
527% REZIN 11 0 0 0O O O O O 0 100.0 100.0 100.00 O 1.00
IR 4 2 0 1 1 0 0 0 0 0 500 500 750 O 2.25
AR 15 7 0 4 11 2 0 0 0 46.6 46.6 733 O 2.66
3402 (MN—#%) 8 4 0 1 1 1 1 0 0 O 50.0 50.0 62.5| 0 2.75
(ZOft—A%) 3 0 1 0 0 1 0 0 0O 33.3 33.3 66.6| 0 3.33
8A EH 40 (zoftcE) 4 0 2 0 0 0 0 0 0 50.0 50.0  100.0| 0 2.00
ne
BRix 3454 REAI 8 0 2 1 1 2 1 0 0 1 0.0 250 375 0 3.85
257% REZIN 2 0 0 1 1 0 O O 0 O 0.0 0.0 50.0/ O 3.50
LL1B5 1 0 0 1 0 0 O O O O 0.0 0.0 100.0/ O 3.00
AR 3 2 0 01 0 OO O O 666 666 66.6 0 2.00
2310 (MN—#%) 32 0 0 1 0 0 0 0 O 66.6 66.6 66.6| 0 2.00
(BOAt—H)| -
o 5 1 0 0 1 2 1 0 0 0 200 200 200 O 4.20
P 238A P2 31 0 0 2 0O 0O O O O 33.3 33.3 33.3] O 3.00
51 REZIN 1 0 0 1 0 0 0O O O O 0.0 0.0 100.0/ O 3.00
LB 9 3 2 2 1 0 1 0 0 O 33.3 55.5 77.7, 0 2.55
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EREES. £EHSY L—R IG5 iR
# 7 BT & AR 2 = 2i8 3E BB B iy
#. FE5 ® @ @ & ® @ -4 PO g NE RBH HE EHNYV O HE O FE 2 EHV
ARz 9 0 0 1122300 0.0 0.0 111 O 5.55
1906 (MN—#&) 5 0 0 0O 0 1 1 3 0 O 0.0 0.0 00/ 0 6.40
(Z0A—AE) 4 0 0 1 1 1 1 0 0 0 0.0 0.0 25.0, 0 4.50
na 2 0 0 1 0 0O 0 1 0 O 0.0 0.0 50.00 O 5.00
fiRizx 19HA FRERIE
63i% JEAR 3 0 0 O 0O O 3 0 0 O 0.0 0.0 0.0 O 6.00
LLIB3
ARz 5 1 1 11 0 0 0 1 0 20.0 40.0 60.0 O 3.60
3702 (MN—#&) 3 1 0 1 1 0 0 0 0 O 33.3 33.3 66.6/ 0 2.66
(Z0A—AE) 2 0 1 0 0 0 0 0 1 0O 0.0 50.0 50.0/ 0 5.00
na 1 0 0 O 0O 1 0o 0O O o 0.0 0.0 0.0 O 5.00
fiRizx 37HA FRERIE
237% JEAR i1 1 0 0 0 O 0O O O O 100.0 100.0 100.0, O 1.00
LB 2 0 0 0O 1 O 1 0 0 O 0.0 0.0 0.0 O 5.00
ARz 11 0 1 2 4 3 1 0 0 O 0.0 9.0 27.2| 0 4.09
2929 (MN—#&) 5 0 0 1 3 1 0 0 0 O 0.0 0.0 20.0, 0 4.00
(ZOf—AE) 3 0 0 1 0 2 0 0 0 O 0.0 0.0 33.3] 0 4.33
N I ELZ 20 ®ofte#®) 3 0o 1 0 1 0 1 0 0 0 0.0 33.3 333 0 4.00
na 1 0 0 1 0 0 0 0 o 0.0 0.0 100.0f O 3.00
AR 295A FRERIE
4475% JEAR 1 0 1 0 O O o 0o o0 o 0.0 100.0 100.0f O 2.00
LB 2 0 0 0O 0 O o 2 0 O 0.0 0.0 0.0 O 7.00
ARz 9 0 2 1 11 2110 0.0 22,2 333 O 4.77
3506 (MN—#&) 5 0 2 1 1 1 0 0 0 O 0.0 40.0 60.0, 0 3.20
(ZOf—AE) 3 0 0 0 0O 0 2 1 0 O 0.0 0.0 00/ 0 6.33
N A ES 20 (Roftc) 0 0 0 0 0 0 0 0 0.0 0.0 0.0, 0 8.00
ne
Akt 358H FRERI
277% JEAR 2 0 0 1 0 1 O O 0 O 0.0 0.0 50.00 O 4.00
LLIB& 5 0 0 0 2 3 0 0O O O 0.0 0.0 0.0 O 4.60
ARis 6 2 0 1 0 2 010 O 333 333 500 O 3.66
2315 (MN—1%) 4 2 0 0 0 1 0 1 0 O 50.0 50.0 50.0/ 0 3.50
(EOf—AR)| e - o :
5 me & 30| (RoftiGEH) 2 0 0 1 0 1 0 0 0 O 0.0 0.0 50.0, O 4.00
e 3 2 0 O O O 1 0 O 66.6 66.6 66.6/ 0 2.66
ARtz 23EA FRERI
52i% PEZYN 1 0 0 1 0 0O 0o 0o 0 o 0.0 0.0 100.0f O 3.00
LLIB& 3 1.0 1 0 1 0 0O 0 O 33.3 33.3 66.6/ 0 3.00
ARi5 14 4 1 1 3 3 1 1 0 0 285 357 428 0 3.50
3402 (MN—#%) 8 2 0 0 2 3 0 1 0 O 25.0 25.0 25.0, 0 4.00
(ZOAt—A%) 2 0 1 0 0 0 1 0 0 O 0.0 50.0 50.0, 0 4.00
A EH 40| (ot 4 2 o0 1 1 0 0 0 0 0 50.0 50.0 75.0, 0 2.25
ne
BRI 3458 RERE 1 0 0 01 0 0 O 0 O 0.0 0.0 0.0/ 0 4.00
257% PEZYN 1 0 0 O 1 0 0O 0o 0 o 0.0 0.0 0.0 O 4.00
L= 2 0 1 0 0 1 0 0o 0 O 0.0 50.0 50.00 O 3.50
ARis 2 0 0 0011000 0.0 0.0 0.0 O 5.50
2310 (MN—#&) 1 0 0 0O 0 1 0 0 0 O 0.0 0.0 00 0 5.00
(ZOH—AE) 1 0 0 O O O 1 0 0 O 0.0 0.0 00/ 0 6.00
na 1 0 1 0 O O 0o 0o o0 o 0.0 100.0 100.0f O 2.00
LLIB% 23HA FRERI
51i% Pz
L= 4 1 0 1 0 0 2 0 0 o 25.0 25.0 50.00 O 4.00
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